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1 | ‘mO#% X7 55 B op 7 iR E P (BRER)

2 ZLOfY pERvAELYNETR 6 BESFR(CE)

3 =20)= IS IR/ 2 BESFR(CE)

4 tO= QEAVAC VST 7 500TciREZHF (B ER)
5 MOZ X7 & ERE /)N 5 500TciREZHF (B ER)
6 10l X7 &5 ERE /)N 5 500TciREZHF (B ER)
7 sROME EAVAMP ETEE 7 500RREZH(FER)
8 g OBx pERvAELYNETIR 6 500TciREZF (B HR)
9 RO X7 &5 ERE /)N 6 500TciREZF (B HR)
10 | 20£E X7 &5 ERE /)N 5 500TciREZF (B HR)
11 | #OE X2 TR /)N 5 500TcIREZF (B HR)
12 | BRO#Z T X7 88 7 B8/ 3 500TcIREZF (B HR)
13 | EORK X7 B SR B/ 3 500RREZ(FER)




